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. A truck moves away from you at constant velocity (as observed by you while standing in the middle of the read). Which of
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¢ the following is true? .
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. Inthe figure below, what is the minkmum initial speed of the dart if it is to hit the monkey before the monkey hits the
¢ ground, which is 10.2 m below the initial position of the monkey, i x is 40 m and &z = 9 m? (Ignore any effects due to air
resistance.)
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. The speed of an arrow fired from a compound bow is about 42,1 m/s,

(2) A Tartar archer sits astride his horse and launches an arrow into the air, elevating the bow at an angle of 10.5%
above the horizontal. If the arrow is 2.44 m above the ground at launch, what is the arrow's harizenzal range?
Assume that the ground is levet, and ignore any effects due to air resistance.
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(b) Now assume that his horse is at full gallop, moving in the same direction that the archer will fire the arrow. Also
assume that the archer elevates the bow at the same eievation angle as in Part (2) and fires, If the horse’s speed is
11.3 m/s, what is the arrow’s horizontal range now?
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